Part of State Form 52414 (R2 / 2-13) / Form 96 (Revised 2013)

BID OF Midwest Paving LLC (Contractor) 11827 Greenfield Avenue (Address) Noblesville, IN 46060

FOR

PUBLIC WORKS PROJECTS

OF

-	Town of McCordsville		
Mill and resurface Various Roads 2023			
Filed	March 7th	, 2023	
Action taken			

PART I (To be completed for all bids. Please type or print)

	Date (month, day, year):3/7/23
1.	Governmental Unit (Owner):_ Town of McCordsville
2.	County :Hancock
3.	Bidder (Firm): Midwest Paving LLC 46-1269427
	Address:11827 Greenfield Avenue
(City/State/ZIPcode:Noblesville, IN 46060
	Telephone Number: 317-776-8925
	Agent of Bidder <i>(if applicable):</i>
Pur	rsuant to notices given, the undersigned offers to furnish labor and/or material necessary to complete
he public w	vorks project of Mill and Resurface Various Roads 2023
Governme	ntal Unit) in accordance with plans and specifications prepared by Mark Witsman
Town of Mc	Cordsville and dated for the sum of
One Million, Two	Hundred Five Thousand, Nine Hundred Twenty-Six Dollars and Seventy-Two Cents \$ 1,205,926.72

The undersigned further agrees to furnish a bond or certified check with this bid for an amount specified in the notice of the letting. If alternative bids apply, the undersigned submits a proposal for each in accordance with the notice. Any addendums attached will be specifically referenced at the applicable page.

If additional units of material included in the contract are needed, the cost of units must be the same as that shown in the original contract if accepted by the governmental unit. If the bid is to be awarded on a unit basis, the itemization of the units shall be shown on a separate attachment.

The contractor and his subcontractors, if any, shall not discriminate against or intimidate any employee, or applicant for employment, to be employed in the performance of this contract, with respect to any matter directly or indirectly related to employment because of race, religion, color, sex, national origin or ancestry. Breach of this covenant may be regarded as a material breach of the contract.

CERTIFICATION OF USE OF UNITED STATES STEEL PRODUCTS (If applicable)

I, the undersigned bidder or agent as a contractor on a public works project, understand my statutory obligation to use steel products made in the United States (I.C. 5-16-8-2). I hereby certify that I and all subcontractors employed by me for this project will use U.S. steel products on this project if awarded. I understand that violations hereunder may result in forfeiture of contractual payments.

ACCEPTANCE

The above bid is accepted this	day of	_,, subject to the
following conditions:		
Contracting Authority Members:		
· · · · · · · · · · · · · · · · · · ·		
(For projec	PART II ts of \$150,000 or more – IC 36-1-12-4)	
Governmental Unit:To	own of McCordsville	
Bidder (Firm) Mi	dwest Paving LLC 46-1269427	
Date (month, day, year).	3/7/2023	

These statements to be submitted under oath by each bidder with and as a part of his bid. Attach additional pages for each section as needed.

SECTION I EXPERIENCE QUESTIONNAIRE

1. What public works projects has your organization completed for the period of one (1) year prior to the date of the current bid?

Contract Amount	Class of Work	Completion Date	Name and Address of Owner
1,947,316.25	Resurfacing	November, 2018	Westfield 2018 Resurfacing
1,687,000.00	Curb & Sidewalk, Asphalt Resurfacing	November 2021	Zionsville 2021 Road Rehabilitation
635,009.93	Curb & Sidewalk, Asphalt Resurfacing	August 2022	City of Tipton CCMG Paving
1,416,702.15	Curb & Sidewalk, Asphalt Resurfacing	August 2021	City of Noblesville 2021 Rehab

2. What public works projects are now in process of construction by your organization?

Contract Amount	Class of Work	Expected Completion Date	Name and Address of Owner
1,990,779.05	Curb & Sidewalk, Asphalt Resurfacing	Spring 2023	City of Noblesville 2022 Street Rehabilitation
1,127,236.00	Curb, Sidewalk, storm & Sewer, Asphalt Resurface	Summer 2023	City of Delphi Adams Street Reconstruction
1,585,631.75	Curb, Sidewalk, Asphalt Resurfacing	Summer 2023	City of Lafayette Kossuth Street Reconstruction
624,978.59	Curb, Sidewalk, Asphalt Resurfacing	Spring 2023	Town of Lapel 2022 CCMG

Per Plans and Specifications all equipment as needed to perform said work. Please list the names and addresses of all subcontractors (i.e. persons or firms outside your own firm	Have you ever failed to complete any work awarded to you?no If so, where and why?
Valenti Held Developers Allan Valenti 317-769-6922 Pulte Homes of Indiana Joe Marx 847-489-8816 SECTION II PLAN AND EQUIPMENT QUESTIONNAIRE Explain your plan or layout for performing proposed work. (Examples could include a narrative of when you could begin work, complete the project, number of workers, etc. and any other information which you believe would enable the governmental unit to consider your bid.) Per Plans and Specifications all equipment as needed to perform said work. Please list the names and addresses of all subcontractors (i.e. persons or firms outside your own firm who have performed part of the work) that you have used on public works projects during the past five (Eyears along with a brief description of the work done by each subcontractor. Indiana Signs and Barricades, Gridlock, Highway Safety Services Javelina Milling, Mamco, Specialties Milling, McCrite Milling,CE Hughes -Milling Calumet Civil Contractors, OLCO -Concrete	
Pulte Homes of Indiana Joe Marx 847-489-8816 SECTION II PLAN AND EQUIPMENT QUESTIONNAIRE Explain your plan or layout for performing proposed work. (Examples could include a narrative of when you could begin work, complete the project, number of workers, etc. and any other information which you believe would enable the governmental unit to consider your bid.) Per Plans and Specifications all equipment as needed to perform said work. Please list the names and addresses of all subcontractors (i.e. persons or firms outside your own firm who have performed part of the work) that you have used on public works projects during the past five (syears along with a brief description of the work done by each subcontractor. Indiana Signs and Barricades, Gridlock, Highway Safety Services Javelina Milling, Mamco, Specialties Milling, McCrite Milling, CE Hughes -Milling Calumet Civil Contractors, OLCO -Concrete	List references from private firms for which you have performed work.
SECTION II PLAN AND EQUIPMENT QUESTIONNAIRE Explain your plan or layout for performing proposed work. (Examples could include a narrative of when you could begin work, complete the project, number of workers, etc. and any other information which you believe would enable the governmental unit to consider your bid.) Per Plans and Specifications all equipment as needed to perform said work. Please list the names and addresses of all subcontractors (i.e. persons or firms outside your own firm who have performed part of the work) that you have used on public works projects during the past five (5 years along with a brief description of the work done by each subcontractor. Indiana Signs and Barricades, Gridlock, Highway Safety Services Javelina Milling, Mamco, Specialties Milling, McCrite Milling, CE Hughes -Milling Calumet Civil Contractors, OLCO -Concrete	Valenti Held Developers Allan Valenti 317-769-6922
Explain your plan or layout for performing proposed work. (Examples could include a narrative of when you could begin work, complete the project, number of workers, etc. and any other information which you believe would enable the governmental unit to consider your bid.) Per Plans and Specifications all equipment as needed to perform said work. Please list the names and addresses of all subcontractors (i.e. persons or firms outside your own firm who have performed part of the work) that you have used on public works projects during the past five (5 years along with a brief description of the work done by each subcontractor. Indiana Signs and Barricades, Gridlock, Highway Safety Services Javelina Milling, Mamco, Specialties Milling, McCrite Milling, CE Hughes -Milling Calumet Civil Contractors, OLCO -Concrete	Pulte Homes of Indiana Joe Marx 847-489-8816
Explain your plan or layout for performing proposed work. (Examples could include a narrative of when you could begin work, complete the project, number of workers, etc. and any other information which you believe would enable the governmental unit to consider your bid.) Per Plans and Specifications all equipment as needed to perform said work. Please list the names and addresses of all subcontractors (i.e. persons or firms outside your own firm who have performed part of the work) that you have used on public works projects during the past five (5 years along with a brief description of the work done by each subcontractor. Indiana Signs and Barricades, Gridlock, Highway Safety Services Javelina Milling, Mamco, Specialties Milling, McCrite Milling, CE Hughes -Milling Calumet Civil Contractors, OLCO -Concrete	
you could begin work, complete the project, number of workers, etc. and any other information which you believe would enable the governmental unit to consider your bid.) Per Plans and Specifications all equipment as needed to perform said work. Please list the names and addresses of all subcontractors (i.e. persons or firms outside your own firm who have performed part of the work) that you have used on public works projects during the past five (5 years along with a brief description of the work done by each subcontractor. Indiana Signs and Barricades, Gridlock, Highway Safety Services Javelina Milling, Mamco, Specialties Milling, McCrite Milling, CE Hughes -Milling Calumet Civil Contractors, OLCO -Concrete	SECTION II PLAN AND EQUIPMENT QUESTIONNAIRE
Please list the names and addresses of all subcontractors (i.e. persons or firms outside your own firm who have performed part of the work) that you have used on public works projects during the past five (5 years along with a brief description of the work done by each subcontractor. Indiana Signs and Barricades, Gridlock, Highway Safety Services Javelina Milling, Mamco, Specialties Milling, McCrite Milling, CE Hughes -Milling Calumet Civil Contractors, OLCO -Concrete Pendleton Trucking	you could begin work, complete the project, number of workers, etc. and any other information which you
who have performed part of the work) that you have used on public works projects during the past five (5 years along with a brief description of the work done by each subcontractor. Indiana Signs and Barricades, Gridlock, Highway Safety Services Javelina Milling, Mamco, Specialties Milling, McCrite Milling, CE Hughes -Milling Calumet Civil Contractors, OLCO -Concrete Pendleton Trucking	Per Plans and Specifications all equipment as needed to perform said work.
who have performed part of the work) that you have used on public works projects during the past five (5 years along with a brief description of the work done by each subcontractor. Indiana Signs and Barricades, Gridlock, Highway Safety Services Javelina Milling, Mamco, Specialties Milling, McCrite Milling, CE Hughes -Milling Calumet Civil Contractors, OLCO -Concrete Pendleton Trucking	
who have performed part of the work) that you have used on public works projects during the past five (5 years along with a brief description of the work done by each subcontractor. Indiana Signs and Barricades, Gridlock, Highway Safety Services Javelina Milling, Mamco, Specialties Milling, McCrite Milling, CE Hughes -Milling Calumet Civil Contractors, OLCO -Concrete Pendleton Trucking	
Javelina Milling, Mamco, Specialties Milling, McCrite Milling, CE Hughes -Milling Calumet Civil Contractors, OLCO -Concrete Pendleton Trucking	who have performed part of the work) that you have used on public works projects during the past five (5
Calumet Civil Contractors, OLCO -Concrete Pendleton Trucking	Indiana Signs and Barricades, Gridlock, Highway Safety Services
Pendleton Trucking	Javelina Milling, Mamco, Specialties Milling, McCrite Milling, CE Hughes -Milling
	Calumet Civil Contractors, OLCO -Concrete
	Pendleton Trucking

.

3.	If you intend to sublet any portion of the work, state the name and address of each subcontractor, equipment to be used by the subcontractor, and whether you will require a bond. However, if you are unable to currently provide a listing, please understand a listing must be provided prior to contract approval. Until the completion of the proposed project, you are under a continuing obligation to immediately notify the governmental unit in the event that you subsequently determine that you will use a subcontractor on the proposed project.
	A list will be provided upon request.
4.	What equipment do you have available to use for the proposed project? Any equipment to be used by subcontractors may also be required to be listed by the governmental unit.
	All as necessary to perform work.
5.	Have you entered into contracts or received offers for all materials which substantiate the prices used in preparing your proposal? If not, please explain the rationale used which would corroborate the prices listed.
	yes

SECTION III CONTRACTOR'S FINANCIAL STATEMENT

Attachment of bidder's financial statement is mandatory. Any bid submitted without said financial statement as required by statute shall thereby be rendered invalid. The financial statement provided hereunder to the governing body awarding the contract must be specific enough in detail so that said governing body can make a proper determination of the bidder's capability for completing the project if awarded.

SECTION IV CONTRACTOR'S NON - COLLUSION AFFIDAVIT

The undersigned bidder or agent, being duly sworn on oath, says that he has not, nor has any other member, representative, or agent of the firm, company, corporation or partnership represented by him, entered into any combination, collusion or agreement with any person relative to the price to be bid by anyone at such letting nor to prevent any person from bidding nor to include anyone to refrain from bidding, and that this bid is made without reference to any other bid and without any agreement, understanding or combination with any other person in reference to such bidding.

He further says that no person or persons, firms, or corporation has, have or will receive directly or indirectly, any rebate, fee, gift, commission or thing of value on account of such sale.

SECTION V OATH AND AFFIRMATION

I HEREBY AFFIRM UNDER THE PENALTIES FOR PERJURY THAT THE FACTS AND INFORMATION CONTAINED IN THE FOREGOING BID FOR PUBLIC WORKS ARE TRUE AND CORRECT.

Dated at	Noblesville	this	7th	day of	March	, 2023
	Midwe	est Paving LL	С	46-1269427		
		At Killey		(Name of Organiz	ation)	
	Matt	Kelley - Pre	sident			
				(Title of Person S	igning)	
	AC	KNOWLED	SEME	NT		
STATE OF Indiana)					
COUNTY OF Hamilton) ss)					
Before me, a Notary Public, p	personally appeare	ed the above-	named		Matt Kelley	and
swore that the statements co	ntained in the fore	going docum	ent are	true and correct		
Subscribed and sworn to before	ore me this	7th day	of	March	, 2023	
			Br	sole lac	tary Public	
My Commission Expires: 11/	03/2030			MINIMUM F	BROOKE ROAHR	IG
County of Residence: Hamilt	on			SEAL Con	ary Public, State of Ir Hamilton County- nmission Number NP07- Ay Commission Expi November 03, 203	ndiana 44743 res

ITEMIZED PROPOSAL

Mill and Resurface Various Roads (2023) in McCordsville including: CR 700 west, CR 900 North, Briarway Lane, Laredo Dr., Emerald Blvd., Chelmsford Dr., Crossfield Trl., Highland Ln., mallard Ln., Commonview Dr., Coral Reef Rd., Terra Ln., McCord Rd., Oxford Ln., First Watch Way, Autumnview Dr., Glenview Dr., Waterfront Way, Northview Dr., Springview Dr., Ridgeway Ct., Stormy Port, Schooner Cir., Briarway Ct., Northview Ct., Coldwater Cir., Mallard Ct., and Bayside Cir.

Date: 3/7/2023

Submitted by: Midwest Paving, LLC

11827 Greenfield Avenue Noblesville, IN 46060

ITEM NO. DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
CR 700 West from CR 600 N	orth to Corpora	te limits ne	ear 5538 N 700
1. Milling, Asphalt	8,285 SY	\$4.10	\$33,968.50
2. HMA Patching, Type A	250 tons	\$110.00	\$27,500.00
3. HMA Surface, Type B, 9.5 mm	1,253 tons	\$79.00	\$98,987.00
4. Asphalt for Tack Coat	2.2 tons	\$1.00	\$2.20
5. Thermo Striping 4" white	4342 LF	\$0.78	\$3,386.76
6. Thermo Striping 4" yellow	4342 LF	\$0.78	\$3,386.76
7. Stop bar	25 LF	\$10.25	\$256.25
	CR 700 West Su	ubtotal =	\$167,487.47

ITEM NO. DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
CR 900 North from CR 600	West to McCord	Road	
8. Milling, Asphalt	4,998 SY	\$3.70	\$18,492.60
9. HMA Patching, Type A	100 tons	\$110.00	\$11,000.00
10. HMA Surface, Type B, 9.5 mm	756 tons	\$79.00	\$59,724.00
11. Asphalt for Tack Coat	1.3 tons	\$1.00	\$1.30
12. Thermo Striping (4" value 13. Thermo Striping (4" ya 14. Stop Bar		\$0.78 \$0.78 \$10.25	\$673.14 \$1,311.96 \$153.75
	CR 900 North	Subtotal =	\$91,356.75
Briarway Lane from CR 100	00 North to W H	ighland Lane	
15. Milling, Asphalt	7,276 SY	\$3.00	\$21,828.00
16. HMA Patching, Type A	150 tons	\$110.00	\$16,500.00
17. HMA Surface, Type B, 9.5 mm	880 tons	\$79.00	\$69,520.00
18. Asphalt for Tack Coat	1.8 tons	\$1.00	\$1.80
	Briarway Lane	Subtotal =	\$107,849.80
Northview Dr from Briarwa	ay Lane to Ridge	eway Ct	
19. Milling, Asphalt	1,829 SY	\$3.15	\$5,761.35
20. HMA Patching, Type A	60 tons	\$110.00	\$6,600.00

ITEM NO. DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
21. HMA Surface,			
Type B, 9.5 mm	166 tons	\$79.00	\$13,114.00
22. Asphalt for Tack Coat	0.5 tons	\$1.00	\$0.50
	Northview Dr	Subtotal	= \$25,475.85
Ridgeway Ct from Northvie	w Dr to Cul-de-	-sac	
23. Milling, Asphalt	1,360 SY	\$3.10	\$4,216.00
24. HMA Patching, Type A	25 tons	\$110.00	\$2,750.00
25. HMA Surface, Type B, 9.5 mm	152 tons	\$79.00	\$12,008.00
26. Asphalt for Tack Coat	0.4 tons	\$1.00	\$0.40
	Ridgeway Ct	Subtotal	= \$18,974.40
Northview Ct from Briarwa	y Lane to Cul-d	le-sac	
27. Milling, Asphalt	1,054 SY	\$3.05	\$3,214.70
28. HMA Patching, Type A	20 tons	\$110.00	\$2,200.00
29. HMA Surface, Type B, 9.5 mm	96 tons	\$79.00	\$7,584.00
30. Asphalt for Tack Coat	0.3 tons	\$1.00	\$0.30
	Northview Ct	: Subtotal	= \$12,999.00

ITEM NO. DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE		
Mallard Lane from CR 1000 North to Cul-de-sac					
31. Milling, Asphalt	3,754 SY	\$2.75	\$10,323.50		
32. HMA Patching, Type A	100 tons	\$110.00	\$11,000.00		
33. HMA Surface, Type B, 9.5 mm	341 tons	\$79.00	\$26,939.00		
34. Asphalt for Tack Coat	0.9 tons	\$1.00	\$0.90		
	Mallard Lane	e Subtotal =	\$48,263.40		
Mallard Ct from Mallard L	n to Cul-de-sad	С			
35. Milling, Asphalt	627 SY	\$3.40	\$2,131.80		
36. HMA Patching, Type A	20 tons	\$110.00	\$2,200.00		
37. HMA Surface, Type B, 9.5 mm	57 tons	\$79.00	\$4,503.00		
38. Asphalt for Tack Coat	0.2 tons	\$1.00	\$0.20		
	Mallard C	t Subtotal =	\$8,835.00		
Briarway Ct from Briarway	Lane to Cul-de	e-sac			
39. Milling, Asphalt	1,058 SY	\$2.85	\$3,015.30		
40. HMA Patching, Type A	20 tons	\$110.00	\$2,200.00		
41. HMA Surface, Type B, 9.5 mm	96 tons	\$79.00	\$7,584.00		

ITEM NO. DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
42. Asphalt for Tack Coat	0.3 tons	\$1.00	\$0.30
	Briarway Ct	: Subtotal =	\$12,799.60
Highland Lane from Crossf	ield Trail to (Cul-de-sac	
43. Milling, Asphalt	4,096 SY	\$2.70	\$11,059.20
44. HMA Patching, Type A	80 tons	\$110.00	\$8,800.00
45. HMA Surface, Type B, 9.5 mm	372 tons	\$79.00	\$29,388.00
46. Asphalt for Tack Coat	1.0 tons	\$1.00	\$1.00
	Highland Lane	Subtotal =	\$49,248.20
Terra Ln from N Crossfiel	d Trail to Cul-	-de-sac	
47. Milling, Asphalt	3,161 SY	\$2.95	\$9,324.95
48. HMA Patching, Type A	80 tons	\$110.00	\$8,800.00
49. HMA Surface, Type B, 9.5 mm	287 tons	\$79.00	\$22,673.00
50. Asphalt for Tack Coat	0.8 tons	\$1.00	\$0.80
	Terra Lane	Subtotal =	\$40,798.75

ITEM NO. DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
N Crossfield Trail from W	Terra Ln to N	Wind River 1	Run
51. Milling, Asphalt	2,092 SY	\$3.00	\$6,276.00
52. HMA Patching, Type A	75 tons	\$110.00	\$8,250.00
53. HMA Surface, Type B, 9.5 mm	199 tons	\$79.00	\$15,721.00
54. Asphalt for Tack Coat	0.5 tons	\$1.00	\$0.50
N C	rossfield Trail	l Subtotal =	\$30,247.50
W Crossfield Trail from N	Wind River Ru	n to CR 600 N	V est
55. Milling, Asphalt	1,900 SY	\$3.05	\$5,795.00
56. HMA Patching, Type A	75 tons	\$110.00	\$8,250.00
57. HMA Surface, Type B, 9.5 mm	172 tons	\$79.00	\$13,588.00
58. Asphalt for Tack Coat	0.8 tons	\$1.00	\$0.80
W C	rossfield Trail	l Subtotal =	\$27,633.80
McCord Rd from 5529 McCord Rd to Parkhurst Crossing			
59. Milling, Asphalt	2,338 SY	\$5.40	\$12,625.20
60. HMA Patching, Type A	40 tons	\$110.00	\$4,400.00
61. HMA Surface, Type B, 9.5 mm	354 tons	\$79.00	\$27,966.00
62. Asphalt for Tack Coat	0.5 tons	\$1.00	\$0.50
	McCord Road	d Subtotal =	\$44,991.70

ITEM NO.	DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
Scho	oner Circle from Naut	ica Blvd to C	Cul-de-sac	
63.	Milling, Asphalt	1,146 SY	\$2.95	\$3,380.70
64.	HMA Patching, Type A	15 tons	\$110.00	\$1,650.00
65.	HMA Surface, Type B, 9.5 mm	104 tons	\$79.00	\$8,216.00
	Asphalt for Tack Coat	0.3 tons	\$1.00	\$0.30
		Schooner Circ	ele Subtotal	= \$13,247.00
Firs	t Watch Way from Cora	l Reef Rd to	Nautica Blvd	l
67.	Milling, Asphalt	2,789 SY	\$3.00	\$8,367.00
68.	HMA Patching, Type A	70 tons	\$110.00	\$7,700.00
69.	HMA Surface, Type B, 9.5 mm	253 tons	\$79.00	\$19,987.00
	Asphalt for Tack Coat	0.7 tons	\$1.00	\$0.70
First Watch Way Subtotal = \$36,054.70				
Coral Reef Rd from Waterfront Way to Nautica Blvd				
71.	Milling, Asphalt	3,400 SY	\$2.90	\$9,860.00
72.	HMA Patching, Type A	75 tons	\$110.00	\$8,250.00
73.	HMA Surface, Type B, 9.5 mm	309 tons	\$79.00	\$24,411.00

ITEM NO. DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
74. Asphalt for Tack Coat	0.8 tons	\$1.00	\$0.80
	Coral Reef R	d Subtotal	\$42,521.80
Stormy Port from Waterfa	cont Way to Bayf	ront Shores	
75. Milling, Asphalt	1,048 SY	\$3.55	\$3,720.40
76. HMA Patching, Type A	40 tons	\$110.00	\$4,400.00
77. HMA Surface, Type B, 9.5 mm	n 95 tons	\$79.00	\$7,505.00
78. Asphalt for Tack Coat	0.3 tons	\$1.00	\$0.30
	Stormy Por	t Subtotal	= \$15,625.70
Waterfront Way from Cora			
Waterfront Way from Cora	al Reef Rd to Ba	yfront Shor	
	al Reef Rd to Ba	yfront Shor \$3.00	es
79. Milling, Asphalt 80. HMA Patching,	2,314 SY 60 tons	yfront Shor \$3.00	es \$6,942.00
79. Milling, Asphalt 80. HMA Patching, Type A 81. HMA Surface,	2,314 SY 60 tons	yfront Shor \$3.00 \$110.00	es \$6,942.00 \$6,600.00
79. Milling, Asphalt 80. HMA Patching, Type A 81. HMA Surface, Type B, 9.5 mm 82. Asphalt for	2,314 SY 60 tons 210 tons	\$3.00 \$110.00 \$79.00 \$1.00	\$6,942.00 \$6,600.00 \$16,590.00 \$0.60
79. Milling, Asphalt 80. HMA Patching, Type A 81. HMA Surface, Type B, 9.5 mm 82. Asphalt for	2,314 SY 60 tons 210 tons 0.6 tons Waterfront Wa	\$3.00 \$110.00 \$79.00 \$1.00	\$6,942.00 \$6,600.00 \$16,590.00 \$0.60

ITEM NO. DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
84. HMA Patching, Type A	15 tons	\$110.00	\$1,650.00
85. HMA Surface, Type B, 9.5 mm	61 tons	\$79.00	\$4,819.00
86. Asphalt for Tack Coat	0.2 tons	\$1.00	\$0.20
	Bayside Circle	Subtotal =	\$8,696.70
Coldwater Cir from Aspen	Way to Cul-de-s	ac	
87. Milling, Asphalt	751 SY	\$12.00	\$9,012.00
88. HMA Patching, Type A	15 tons	\$110.00	\$1,650.00
89. HMA Surface, Type B, 9.5 mm	68 tons	\$79.00	\$5,372.00
90. Asphalt for Tack Coat	0.2 tons	\$1.00	\$0.20
	Coldwater Cir	Subtotal =	\$16,034.20
N Emerald Blvd from CR 60	00 West to W Gle	nview Dr	
91. Milling, Asphalt	5,129 SY	\$2.70	\$13,848.30
92. HMA Patching, Type A	100 tons	\$110.00	\$11,000.00
93. HMA Surface, Type B, 9.5 mm	456 tons	\$79.00	\$36,024.00
94. Asphalt for Tack Coat	1.3 tons	\$1.00	\$1.30
	N Emerald Blvd	Subtotal =	\$60,873.60

ITEM NO. DESCRIPTION Q	UANTITY	UNIT PRICE	TOTAL PRICE	
Commonview Drive from Emera	ld Blvd to Ra	inview Way		
95. Milling, Asphalt	3,740 SY	\$2.85	\$10,659.00	
96. HMA Patching, Type A	100 tons	\$110.00	\$11,000.00	
97. HMA Surface, Type B, 9.5 mm	339 tons	\$79.00	\$26,781.00	
98. Asphalt for Tack Coat	1.3 tons	\$1.00	\$1.30	
Com	monview Drive	Subtotal =	\$48,441.30	
N Autumview Dr from Emerald	Blvd to Glen	view Dr		
99. Milling, Asphalt	2,230 SY	\$3.20	\$7,136.00	
100. HMA Patching, Type A	100 tons	\$110.00	\$11,000.00	
101. HMA Surface, Type B, 9.5 mm	202 tons	\$79.00	\$15,958.00	
102. Asphalt for Tack Coat	0.6 tons	\$1.00	\$0.60	
N Autumview Dr Subtotal =\$34,094.60				
Glenview Dr from Autumview Dr to Springview Dr				
103. Milling, Asphalt	2,418 SY	\$3.10	\$7,495.80	
104. HMA Patching, Type A	60 tons	\$110.00	\$6,600.00	
105. HMA Surface, Type B, 9.5 mm	259 tons	\$79.00	\$20,461.00	

ITEM NO. DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
106. Asphalt for Tack Coat	0.6 tons	\$1.00	\$0.60
	Glenview Dr	Subtotal =	\$34,557.40
Springview Dr from Glenvi	ew Dr to Cresty	view Trl	
107. Milling, Asphalt	1,347 SY	\$3.15	\$4,243.05
108. HMA Patching, Type A	40 tons	\$110.00	\$4,400.00
109. HMA Surface, Type B, 9.5 mm	122 tons	\$79.00	\$9,638.00
110. Asphalt for Tack Coat	0.3 tons	\$1.00	\$0.30
	Springview Dr	Subtotal =	\$18,281.35
N Laredo Drive from N Gat			
N Laredo Drive from N Gat	eway Crossing E	Slvd to W Del	
	eway Crossing E	Slvd to W Del \$2.80	Rio Drive
111. Milling, Asphalt 112. HMA Patching,	eway Crossing E	Slvd to W Del \$2.80	Rio Drive \$15,598.80
111. Milling, Asphalt112. HMA Patching,	seway Crossing E 5,571 SY 130 tons	\$2.80 \$10.00	**Rio Drive
 111. Milling, Asphalt 112. HMA Patching,	seway Crossing E 5,571 SY 130 tons 506 tons	\$2.80 \$110.00 \$79.00 \$1.00	\$15,598.80 \$14,300.00 \$39,974.00 \$1.40
 111. Milling, Asphalt 112. HMA Patching,	5,571 SY 130 tons 506 tons 1.4 tons N Laredo Drive	\$2.80 \$110.00 \$79.00 \$1.00 \$ Subtotal =	\$15,598.80 \$14,300.00 \$39,974.00 \$1.40

ITEM NO. DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
116. HMA Patching, Type A	100 tons	\$110.00	\$11,000.00
117. HMA Surface, Type B, 9.5 mm	a 370 tons	\$79.00	\$29,230.00
118. Asphalt for Tack Coat	1.0 tons	\$1.00	\$1.00
W	Chelmsford Driv	re Subtotal = _	\$51,841.90
Oxford Ln from Irving Dr	to Lynhurst Cr	cossing	
119. Milling, Asphalt	3,007 SY	\$2.95	\$8,870.65
120. HMA Patching, Type A	75 tons	\$110.00	\$8,250.00
121. HMA Surface, Type B, 9.5 mm	n 273 tons	\$79.00	\$21,567.00
122. Asphalt for Tack Coat	0.8 tons	\$1.00	\$0.80
	Oxford Lan	e Subtotal = _	\$38,688.45
	TOTAL	BASE BID=(\$)_	\$1,205,926.72
(AND IN WORDS) One Million, Tv	vo Hundred Five Thousa	nd, Nine Hundred Twe	nty-Six Dollars
and Seventy-Two Cents			

By: Matt Kelley
Signature: Mt Kuly
Title: President

14